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101|R#A7 L 372 372| Kg /Il 3,240 756
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111|&EEF £ 159 159| Kg 8 - & 1,728 432
113|RAV S 29 2 271 Kg |EE 378 FfE 3,240 2,483
114|B5EFE 217 217|  Kg e 2,700 540
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134[#= = 240 220 20| Kg |k% - =8 2,808 1,300 5T%8 2,808 2,376
137|&5ES. < 238 200 38| Kg |BE 3,564 2,160 | K i 6,800 3,888
140(5 I 23 23| Kg b 41,760 22,500
147|E2 O 110 110| Kg EIRE - g 7,000 4,000
158|EFEA A LS 230 230| Kg S40 2,160 1,620
201{Lvb L 906 906| Kg BER - R 486 180
203|/hd L 104 104| Kg =5 324 297
206| = 1F 569 569| Kg RI5 778 384
208| Mo % 160 160 Kg ML 1,944 432
210{1F AL 100 100[ Kg K% 1,836
212|&5E.3 Y 686 686| Kg BiE 1,998 1,080
251|< £ <3 306 306| Kg FIE 7,344 3,164
254|EDRECH 855 35 820| Kg |fFril 2,009 T 2,268 842
303|1A 220 746 90 656| Kg |BiR 540 L0 - R 1,080 500
315|7=b 5 22 22| Kg =il 3,888 3,240
319|&h 5 193 193] Kg e - BE 3,564 1,000
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332|= 13 WA =EF 179 179] Kg bF 2,376 2,052
351(4EH 38 36| Kg [|&)I 5,400 BE 16,200 3,888
35411FxE<Y 399 399 Kg FIE 3,580 1,080
355(mp Y 130 130 Kg A - BE 1,728 600
356(L L& 60 60 Kg SR 1,296 810
357|7RE 41 411 Kg FEE 2,592 878
358|KE 5 5| Kg FA 2,808

362|Hh & 464 462 Kg R 1,612 FJE 3,240 468
4025 E 10 10| Kg FAN 5,184
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BO4|AHED A L 25 25| Kg =] 1,084
512| A A L 89 89| Kg b 1,450 1,188
523|AEAAT 2 O 995 995| Kg Bh 5,724 1,213
54| A & 2V 134 134 Kg ==y 1,470 1,180
554\ XX BIA AR 150 150 Kg b 1,050 450
558|# 50 50[ Kg b 1,296 918
560|472 647 647| Kg Bh 4,100 1,150
5764 X 1F 205 205| Kg B - A 1,836 960
5814 Y & 600 600| Kg =] 713 583
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70110 BA 120 1201 Kg =y 1,620 1,566
71019 2 ®HA0F 39 391 Kg =N 1,485 1,305
BlBEFALANIN 54 54 Kg FJE 1,145 682
755(Fd L 420 420 Kg B 771
56| £ 9 6 6 Kg RIE 1,466
759|555 EE L 12 12 Kg =, 1,260
76713725 W\ H 228 228 Kg = 7,500 1,800
8011 = 1F 130 1301 Kg ¥ -mA 1,728 1,050
802|1 x| 80 80| Kg gl 1,512 324
8051 1E 817 817 Kg B =2 1,037 324
807 [18H D F 20 201 Kg HE 4,104 3,672
810|BAKTF 132 132] Kg B =2 2,760 1,728
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